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Identifying Steps to Model and Solve Problems
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Building Linear Models
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Using a Given Intercept to Build a Model
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Using a Given Input and Output to Build a Model

(6CN G:6A
LDGA96EEA>86I>DCH6G:CDI6H9>G:8I6HI=: DC:HL: ?JHI8DCH>9:G:9�$CHI:69
I=:NG:FJ>G:JHID>9:CI>;NHDB:6HE:8ID;6A>C:6G;JC8I>DC�2: B><=IHDB:I>B:H>CHI:69
7: 6H@:9ID:K6AJ6I:I=: A>C:6GBD9:A6I 6 <>K:C>CEJIDGH:I I=: :FJ6I>DCD; I=: A>C:6G
BD9:A�:FJ6A�ID�6�HE:8>;>:9�DJIEJI�

#DL�/D

Given a word problem that includes two pairs of input and output values,usethe
linear function to solve a problem.
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Using a Diagram to Model a Problem
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Should I draw diagrams when given information based on a geometric shape?

Yes. Sketch the figure and label the quantities and unknowns on the sketch.
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Given a situation that representsa systemof linear equations,write the systemof
equations and identify the solution.
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